
Strona 1 Tabela rob ziemnych - Wilcza Wola

Zużycie
wykop nasyp wykop nasyp wykop nasyp na

(+) (-) (+) (-) (+) (-) miejscu
m m3

1 2 3 4 5 6 7 8 9 10 11 12 13 14
1 950,00 0,31 0,04
2 0,00 0,30 0,05 0,31 0,05 50,00 15,5 2,5 2,5 13,0  13,0        - 
2 50,00 0,14 0,43 0,22 0,24 50,00 11,0 12,0 11,0  1,0 12,0        - 
2 100,00 0,14 0,36 0,14 0,40 50,00 7,0 20,0 7,0  13,0        - -1 
2 150,00 0,25 0,06 0,20 0,21 50,00 10,0 10,5 10,0  0,5        - -2 
2 200,00 0,18 0,07 0,22 0,07 50,00 11,0 3,5 3,5 7,5  6,0        - 
2 250,00 0,25 0,06 0,22 0,07 50,00 11,0 3,5 3,5 7,5  13,5        - 
2 300,00 0,17 0,24 0,21 0,15 50,00 10,5 7,5 7,5 3,0  16,5        - 
2 350,00 0,16 0,45 0,17 0,35 50,00 8,5 17,5 8,5  9,0 7,5        - 
2 400,00 0,02 0,34 0,09 0,40 50,00 4,5 20,0 4,5  15,5        - -8 
2 450,00 0,18 0,40 0,10 0,37 50,00 5,0 18,5 5,0  13,5        - -22 
2 500,00 0,20 0,12 0,19 0,26 50,00 9,5 13,0 9,5  3,5        - -25 
2 550,00 0,21 0,11 0,21 0,12 50,00 10,5 6,0 6,0 4,5         - -21 
2 600,00 0,34 0,02 0,28 0,07 50,00 14,0 3,5 3,5 10,5         - -10 
2 650,00 0,49 0,02 0,42 0,02 50,00 21,0 1,0 1,0 20,0  10,0        - 
2 700,00 0,42 0,02 0,46 0,02 50,00 23,0 1,0 1,0 22,0  32,0        - 
2 750,00 0,15 0,94 0,29 0,48 50,00 14,5 24,0 14,5  9,5 22,5        - 
2 800,00 0,14 1,33 0,15 1,14 50,00 7,5 57,0 7,5  49,5        - -27 
2 850,00 0,38 0,03 0,26 0,68 50,00 13,0 34,0 13,0  21,0        - -48 
2 900,00 0,20 0,14 0,29 0,09 50,00 14,5 4,5 4,5 10,0         - -38 
2 946,00 0,19 0,37 0,20 0,26 46,00 9,2 12,0 9,2  2,8        - -41 
3 0,00 0,24 0,14 0,22 0,26 54,00 11,9 14,0 11,9  2,1        - -43 
3 50,00 1,48 0,00 0,86 0,07 50,00 43,0 3,5 3,5 39,5         - -3 
3 100,00 0,45 0,05 0,97 0,03 50,00 48,5 1,5 1,5 47,0  43,6        - 
3 149,88 0,42 0,05 0,44 0,05 49,88 22,0 2,5 2,5 19,5  63,1        - 

RAZEM: 356,1 293,0 152,1 204,0 140,9 63,1 63,1
Obliczenia są poprawne.
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